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0,0 Węzeł kanalizacyjny

W
1

1
4

180,32180,32177,592,73

150 ‰

L=3,13,1 Trójnik PVC 200/160, 45°

T
6

7

180,41180,41178,142,270,0 Węzeł kanalizacyjny

P
1

1
5

180,41180,41177,732,68

150 ‰

L=2,82,8

Trójnik PVC 200/160, 45°

T
6

8

180,50180,50178,541,960,0 Węzeł kanalizacyjny

W
1

1
5 180,50180,50178,372,13

87 ‰
L=2,12,1

Studnia z kręgów betonowych DN 1000mm

S
1

7
6

180,50180,50178,142,360,0 Węzeł kanalizacyjny

P
1

1
6

180,50180,50178,002,50

62 ‰

L=2,42,4

Trójnik PVC 200/160, 45°
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6

9

180,53180,53178,272,260,0 Węzeł kanalizacyjny

W
1

1
6

180,53180,53178,102,43

59 ‰

L=3,03,0 Studnia z kręgów betonowych DN 1000mm
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7
7

180,61180,61178,621,990,0 Węzeł kanalizacyjny

W
1

1
7

180,61180,61178,132,48

150 ‰

L=3,33,3 Trójnik PVC 200/160, 45°

T
7

0

180,73180,73178,871,860,0 Węzeł kanalizacyjny

W
1

1
8 180,69180,69178,831,8631 ‰

L=1,31,3 Studnia z kręgów betonowych DN 1000mm
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7
8

180,80180,80178,692,110,0 Węzeł kanalizacyjny

P
1

1
7 180,80180,80178,422,38

150 ‰
L=1,81,8 Trójnik PVC 200/160, 45°

T
7

1

180,80180,80178,542,260,0 Węzeł kanalizacyjny

P
1

1
8

180,80180,80178,452,35

2
2
 ‰ L

=
4
,5

4,5 Studnia z kręgów betonowych DN 1000mm

S
1

7
9

180,80180,80178,802,000,0 Węzeł kanalizacyjny

W
1

1
9

180,80180,80178,452,35
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 ‰
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5,8 Studnia z kręgów betonowych DN 1000mm

S
1

7
9

180,80180,80178,542,260,0 Węzeł kanalizacyjny

W
1

2
0

180,80180,80178,532,2715 ‰ L=0,90,9

Studnia z kręgów betonowych DN 1000mm
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istn. rur.  ø200  Ro=178,77

istn. rur.  ø200  Ro=178,81

istn. rur.  ø200  Ro=178,90

istn. rur.  ø200  Ro=178,90

istn. rur.  ø500  Ro=179,52

istn. rur.  ø110  Ro=179,20


